"ONI VZHOM SOINVYNAQ X3dY

~
o

- **** APEX DYNAMICS KOREA INC.

AD/ADR/ADS

Series
» Planetary Gearboxes

« High Precision
e High Speed

High Precision
Planetary Gearboxes

S HOIH 2 HolE XE
(AD/ADR/ADS 047~110 : &=22| SH|0E XE)




Series

Gearbox Performance

4 19 48 130 270 560 1,100 1,700
1 5 22 60 160 330 650 1,200 2,000
7 19 50 140 300 550 1,100 1,800
10 14 40 100 230 450 900 1,500
20 19 48 130 270 560 1,100 1,700
25 22 60 160 330 650 1,200 2,000
85 19 50 140 300 550 1,100 1,800
Nominal Output Torque Tay Nm 40 19 48 130 270 560 1,100 1,700
50 22 60 160 330 650 1,200 2,000
2 70 19 50 140 300 550 1,100 1,800
100 14 40 100 230 450 900 1,500
16 19 48 130 270 560 1,100 1,700
21 22 60 160 330 650 1,200 2,000
31 19 50 140 300 550 1,100 1,800
61 19 50 140 300 550 1,100 1,800
91 14 40 100 230 450 900 1,500
Emergency Stop Torque Tonor* Nm 1,2 4~100 3 times of Nominal Output Torque
Nominal Input Speed ny rpm 1,2 4~100 | 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed nig rpm 1,2 4~100 | 10,000 | 10,000 | 8,000 8,000 6,000 6,000 4,000
Micro Backlash P0° arcmin ! 4-10 - x = = = = =
2 20~100 * * * <3 <3 <3 <3
) 1 4~10 <3 <3 <3 <3 <3 <3 <3
Reduced Backlash P1 arcmin ’ 20100 <5 <5 <5 <5 <5 <5 <5
. 1 4~10 <5 <5 <5 <5 <5 <5 <5
Standard Backlash P2 arcmin 2 20100 <7 <7 <7 <7 <7 <7 <7
Torsional Rigidity Nm/arcmin| 1,2 4~100 7 13 31 82 151 440 1,006
Max. Bending moment Mzks? Nm 1,2 4~100 42.5 125 235 430 1,300 3,064 5,900
Max. Axial Load F2as” N 1,2 4~100 990 1,050 2,850 2,990 | 10,590 | 16,660 | 29,430
Service Life hr 1,2 4~100 30,000°
- 1 4~10 = 97%
Efficiency » % 2 | 20~100 > 94%
1 4~10 0.7 1.2 3 5.6 11.9 31.6 56.1
Weight kg ) 20~100 1 1.6 37 7.3 15.9 36.9 70.4
16~91 1 1.4 815 6.5 15.5 34.2 67.2
Operating Temp® © 1,2 4~100 -10C~+90°C
Lubrication 1,2 4~100 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 4~100 IP65 (Option IP67)
Mounting Position 1,2 4~100 all directions
Noise Level(n,=3000pmNoLoad) ~ dB(A) | 1,2 | 4~100 | <56 | <58 | <60 | <63 | <65 | <67 | <70
Gearbox Inertia
stage | Rato
4 0.03 0.14 0.51 2.87 7.54 25.03 58.31
1 5 0.03 0.13 047 2.71 742 23.29 53.27
7 0.03 0.13 0.45 2.62 7.14 2248 50.97
10 0.03 0.13 0.44 2.57 7.03 22.51 50.56
20 0.03 0.03 0.13 047 2.71 7.42 23.29
25 0.03 0.03 0.13 047 2.71 742 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
Mass Moments of Inertia J1 Kg - cm? 40 0.03 0.03 0.13 0.44 2.57 7.03 22.51
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
2 70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
16 0.03 0.03 0.13 047 2.71 7.42 23.29
21 0.03 0.03 0.13 047 2.71 7.42 23.29
31 0.03 0.03 0.13 0.44 2.57 7.03 22.51
61 0.03 0.03 0.13 0.44 2.57 7.03 22.51
91 0.03 0.03 0.13 0.44 2.57 7.03 22.51

1. Ratiofi=Ne/Now) 2. 7| : £8%% 100rpmost 3 457| ASR2E 1 -10-90, Z447| FHRE 0~40%
4. £|tH7}5E3 Tes = 60% of Tanor 5, Senvice life 15,000nrs (S1:1&52MZ71) 6. AD047 1,2Ct AD0B4 1,25 ADO90 2EH POZ M| Ak
* 1240| 2F A| A|that Yo HAte) SgLICE B, H7]9k 7Hols BiS0| ASHC



AD Series

(15 24, ZH4H|(Ratio) i=4~10)

C9

L4 L6 L8 Cc8

L10x45°

loD8 H
L9 Dep.
gy
i
I

D7
@D5
@D4 hy
2D12
@D3 hr
2D2

L1 1 |

.
\
X
i
L
]
1
\
|
1
e R B ¥
aCc3
acs5
D9
D11 h7

D6

[ opiw
(17 +
"

// :
T e

C6é

2D10
Q
P
i
3

Flange Dimensions
according to ISO 9409
ADO064-AD255

C4

[unit:mm]
D1 wr 12 20 31.5 40 50 80 100
D2 20 315 50 63 80 125 140
D3 n7 28 40 63 80 100 160 180
D4 7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 X M3 X0.5P 7XM5X0.8P | 7XM6X1P 11 XM6X1P | 11 X M8 X 1.25P| 11 X M10 X 1.5P| 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D9 455 59) 77 90 113 138 175
D10 8X34 8X45 8X5.5 8X55 12 X 6.6 12X9 16 X 13.5
D11 w7 60 70 95 120 152 212 255
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 B 7.7 8 10 12 15 20
L8 18.5 28.5 27 37 62 69.5 82
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1¢ 46 70 100 130 165 215 235
c2¢ M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
C3* <11/<12 <14/<16° <19/ <24 <32 < 38 <48 <55
C4! 30 34 40 50 60 85 116
C5* 30 50 80 110 130 180 200
C6* 815 8 4 O 6 6 6
cr! 48 60 90 115 142 190 220
Cc8* 19.5 19 17 19.5 22.5 29 63
Cc9* 70 82.5 99.5 121.5 151 199.5 256.5
Cc10° 13.25 13.5 10.75 13 15 20.75 5189
oD 56 X2 66 X2 90 X3 110X 3 145X 3 200 X 5 238 X5

"ONI VZHOM SOINVYNAQ X3dY

~
N

1, AD047Z&H] 1/59F 1/100f 85 C3=12mmE optionalZ *|&

2. ADO64ZZH| 1/594 1/100f §HA 3l C3=16mmS optionalZ X &

3, AD0900||A{ C3=24mm optionalZ |3, Tt HL2MZZ1(S1 condition)ofAl= ALSA FOIE 2%

4, C1-C102 ®M2E{oj| mf2} ChELCt, ZHAL Z|0]R| www.apexdynakorea,co kr2 H45}AlS Design ToolS 0|&5t0] X|4E &olgt 4 QAL



(2t 2%, ZH|(Ratio) i=20~100)

Cc9

L4 L6 L8 cs
13 15| |L7 c19.
L10x45°
28 1
SE] 5 ]
| ¥
[T (k]
SRR LR I Kl i et i o | M E
IS L
» e
f 1]
/ =
]
mensions | & \
Flar)ge Dimensions &l | L2 | ce, |l
R € o
[unit:mm]
D1 wr 12 20 31.5 40 50 80 100
D2 20 315 50 63 80 125 140
D3 w7 28 40 63 80 100 160 180
D4 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 XM3X05P | 7XM5X0.8P 7XM6 X 1P 11 XM6X1P |11 XM8 X 1.25P| 11 X M10 X 1.5P | 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D9 455 455 53.4 77 102 125 160
D10 8X34 8X4.5 8 X5.5 8X5.5 12 X6.6 12 X9 16 X 13.5
D11 w7 60 70 95 120 152 212 255
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 139 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 5 7.7 8 10 12 15 20
L8 54.5 65 60 87.5 110 132.5 148
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
C1° 46 46 70 100 130 165 200
Cc2° M4 X 0.7P M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
<14/
C3° <11/<12 <1/ <12 < 15.875/ < 19/ < 24 <32 <38 <48
< 16°
C4° 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6° 88 815 8 4 5 6 6
C7° 48 48 60 90 115 142 190
C8° 19.5 19.5 19 17 19.5 22.5 29
C9° 97.5 108 134 160 204 248 311.5
C10° 13.25 13.25 189 10.75 13 15 20.75
oD 56 X 2 66 X 2 90 X 3 110X 3 145X 3 200 X 5 238 X 5
1. AD047 C3=12mmE optionalZ X2 2.AD0B4 C3=12mm$E optionalZ M=

3, AD090 C3=15,875 & C3=162 optionalZ H|&

73



~
=N

"ONI VZHOM SOINVYNAQ X3dY

Series

(2t 2= Z+sH|(Ratio) i=16,21,31,61,91)
c9
14 _.16 L8 cs
L3 L e 484
L10x45°
i
Q|- r
‘EEEE §éu_3—' - —-———H{ 4828
| = —— %)
E .
i :
]
Flange Dimensions J g =] \ cé
according to 1SO 9409 8 8PRing ca
AHO64-AH255
[unit:mm]
D1 w7 12 20 31.5 40 50 80 100
D2 20 GilES 50 63 80 125 140
D3 n7 28 40 63 80 100 160 180
D4 n7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 XM3X05P | 7XM5XO0.8P 7 XM6 X 1P 11T XM6X1P |11 XM8 X 1.25P | 11 X M10 X 1.5P| 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 w7 ) 5 6 6 8 10 12
D9 455 455 55 77 90 113 138
D10 8X34 8X4.5 8X55 8X55 12 X 6.6 12 X9 16 X 13.5
D11 w7 60 70 95 120 152 212 255
D18 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 185 185 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 o) 7.7 8 10 12 15 20
L8 25 28.5 32 37 122 79.5 82
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
C1° 46 46 70 100 130 165 215
C2° M4 X 0.7P M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
<14/
C3° <11/<L12 <11/<12 <15.875/ < 19/ 24 <32 < 38 <48
< 16°
C4° 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6° 315 35 8 4 5 6 6
Cr7° 48 48 60 90 115 142 190
C8° 19.5 19.5 19 17 19.5 22.5 29
Cc9°® 100 106 130.5 149 205 2475 323
c10° 13.25 13.25 13.5 10.75 13 15 20.75
oD 56 X 2 66 X 2 90X 3 110X 3 145X 3 200 X 5 238 X5

1, AD047 C3=12mmS optionalZ =

3, AD090 C3=15,875 & C3=162 optional 2 M3
5, C1~C102 M2 2Eof e} ChEL|Ct, 2AF ZH|0|X| www apexdynakorea,co krZ 51412 Design ToolS 0/83

2.AD064 C3=12mmg optionalZ X2

4, AD110 C3=24mm optionalZ &, tt o4

>
4>
i
Jok
ro
ok
>
30
>
i
i



ADR Series

Gearbox Performance

19 48 130 270 560 1,100 1,700
22 60 160 330 650 1,200 2,000
1 7 19 50 140 300 550 1,100 1,800
10 14 40 100 230 450 900 1,500
14 - 42 140 300 550 1,100 1,800
20 - 40 100 230 450 900 1,500
Nominal Output Torque Tay Nm 20 19 - - - - - -
25 22 60 160 330 650 1,200 2,000
35 19 50 140 300 550 1,100 1,800
40 19 48 130 270 560 1,100 1,700
2 50 22 60 160 330 650 1,200 2,000
70 19 50 140 300 550 1,100 1,800
100 14 40 100 230 450 900 1,500
140 - - 140 300 550 1,100 1,800
200 - - 100 230 450 900 1,500
Emergency Stop Torque Tonor’ Nm 1,2 4~200 3 times of Nominal Output Torque
Nominal Input Speed ny rpm 1,2 4~200 | 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed nsg rpm 1,2 4~200 | 10,000 | 10,000 | 8,000 8,000 6,000 6,000 4,000
Micro Backlash P0° arcmin ! 4-20 . . =2 <2 <2 =2 =2
2 25~200 - - <4 <4 <4 <4 <4
Reduced Backlash P1 arcmin ! 4-20 =4 =4 =4 =4 =4 =4 =4
2 25~200 <7 <7 <7 <7 <7 <7 <7
Standard Backlash P2 arcmin ! 4-20 =6 =6 =6 =6 =6 =6 =6
2 25~200 <9 <9 <9 <9 <9 <9 <9
Torsional Rigidity Nm/arcmin| 1,2 4~200 7 13 31 82 151 440 1,006
Max. Bending moment Mas? Nm 1,2 4~200 42.5 125 235 430 1,300 3,064 5,900
Max. Axial Load Feas? N 1,2 4~200 990 1,050 2,850 2,990 | 10,590 | 16,660 | 29,430
Service Life hr 1,2 4~200 30,000°
1 4~20 = 95%
Efficiency » % 2 25200 > 92%
Weight kg 1 4~20 1.1 2.1 5.9 10.5 21.9 50.9 854
2 25~200 1.4 1.9 45 9.8 20.1 454 85.9
Operating Temp? c 1,2 4~200 -10C~+90C
Lubrication 1,2 4~200 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 4~200 IP65 (Option IP67)
Mounting Position 1,2 4~200 all directions
Noise Level(n=3000 rpmNo Load) ~ dB(A) | 1,2 | 4~200 | <61 \ <63 \ <65 \ <68 \ <70 \ <72 \ <74

Gearbox Inertia

4~10 0.09 0.35 2.25 6.84 234 68.9 135.4
1 14 - 0.07 1.87 6.25 21.8 65.6 119.8
Mass Moments of Inertia J1 Kg - cm? 20 . 007 187 625 218 656 1198
20 0.09 - - - - - -
2 25~100 0.09 0.09 0.35 2.25 6.84 234 68.9
140~200 - - 0.31 1.87 6.25 21.8 65.6
1. Ratio(i=Nin/Nou) 2. 7|F : £44& 100rpmo|s}
3. 27| ASLE : -10-00E, Z47| FHEE 0405 4. Z|C47REE3 T8 = 60% of Tanor

5, Service life 15,000hrs (S1: A& 2MZE) 6. ADR047 1,2EH ADR0G4 1,25 POZ M| Ztot=l



"ONI VZHOM SOINVYNAQ X3dY

~
(=2]

ADR Series

(12t 2%

- a

L8

, =&H|(Ratio) i=4~20)

4 L6
L3 L5
L10x45° Il
&k
17/
88358 8a.1 W1
/ 8
/8
! T
Flange Dimensions J 2 |L2] c2
according to SO 9409
ADRO64-ADR255 N
O
[unit:mm]
D1 wr 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 w 28 40 63 80 100 160 180
D4 v 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4XM3X05P | 7XM5XO0.8P 7 XM6 X 1P 11 XM6X1P |11 X M8 X 1.25P |11 X M10 X 1.5P | 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 w7 8 & 6 6 8 10 12
D10 8X34 8X45 8X5.5 8X55 12X 6.6 12X9 16 X 13.5
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L8 107.5 126 172.5 201 263.5 334.5 392
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1* 46 70 100 130 165 215 235
c2* M4 X 0.7P M5 X 0.8P M6 X1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
C3* <11/<12 <14/ <16 <19/ <24 <32 <38 <48 < 55
C4* 30 34 40 50 60 85 116
C5* 30 50 80 110 130 180 200
C6* 815 8 4 5 6 6 6
cr* 48 60 90 115 142 190 220
Cc8* 19.5 16 17 19.5 22.5 29 63
C9* 104.25 116.5 159.5 199 2455 316 398.5
Cc10¢ 13.25 13.5 10.75 13 15 20.75 5815
C11¢ 74 81.5 107.5 134 164.5 213.5 268.5

1. ADR047 C3=12mmg optionalZ M=

3, ADR090 C3=24mm< optional2 &2, Tt HE2XEA
4, C1~C102 MS2E{of w2t ChELICH, ZAHZH|0|A| www apexdynakorea,co ki F&5HM=Z Design ToolS 0[&st0f A|+-E Zlet = &L C

2. ADR064 C3=16mmE optionalZ X2

(S1 condition) A= ALA FO|E Q3¢



ADR Series

(2 2=

Z=H|(Ratio) i=25~200)

L8

L4

L6

L10x45°

Ocr
LRSS i
[ iy
|8
/ |
Flange Dimensions j g L]
according to 1ISO 9409 Q
ADR064-ADR255
[unit:mm]
D1 wr 12 20 315 40 50 80 100
D2 20 315 50 63 80 125 140
D3 28 40 63 80 100 160 180
D4 w7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 XM3X0.5P | 7XM5XO0.8P 7 XM6 X 1P 11 XM6 X1P | 11 XM8 X 1.25P| 11 X M10 X 1.5P| 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 7 3 5 6 6 8 10 12
D10 8X34 8X4.5 8X5.5 8X55 12 X 6.6 12 X9 16 X 13.5
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L8 122 132.5 163 217.5 269.5 333.5 403
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
C1° 46 46 70 100 130 165 200
C2° M4 X 0.7P M4 X 0.7P M4 X 0.7P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
. 1 ) <14/ )
C3 <11/<12 <11/<£12 < 15.875/ < 16° < 19/< 24 <32 <38 <48
C4° 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6° 315 35 8 4 5 6 6
C7° 48 48 60 90 115 142 190
C8° 19.5 19.5 19 17 19.5 22.5 29
C9° 103.25 108.25 128.25 166.5 209 269.5 340
C10° 13.25 13.25 13.5 10.75 13 15 20.75
C11° 74 74 81.5 107.5 134 164.5 2135
1. ADR047 C3=12mmg optionalZ M= 2. ADR064 C3=12mm< optional2 X2
3, ADR090 C3=15 875 & C3=162 optional 2 |2 4, ADR110 C3=24mms optionalZ H|Z, T ¢I£2MZ24(S1 condition) M= ALEA FOIE 2%
5. C1~C102 HE2E{of| w2} CHEU CF, ZAL 2 0]|X| www.apexdynakorea,co kr2 &&otAl% Design Tools 0| Estof A|5=E &tolgt 4= G

77



"ONI VZHOM SOINVYNAQ X3dY

~
o

Series

Gearbox Performance

19 48 130 270 560 1,100 1,700
1 22 60 160 330 650 1,200 2,000
19 50 140 300 550 1,100 1,800
10 14 40 100 230 450 900 1,500
Nominal Output Torque Tay Nm 16 19 48 130 270 560 1,100 1,700
21 22 60 160 330 650 1,200 2,000
2 31 19 50 140 300 550 1,100 1,800
61 19 50 140 300 550 1,100 1,800
91 14 40 100 230 450 900 1,500
Emergency Stop Torque Toor* Nm 1,2 4~91 3 times of Nominal Output Torque
Nominal Input Speed ny rpm 1,2 4~91 5,000 5,000 4,000 4,000 | 3,000 3,000 2,000
Max. Input Speed nig rpm 1,2 4~91 10,000 | 10,000 | 8,000 7,500 | 4,500 4,500 3,800
Micro Backlash P0° arcmin ! 4-10 . . = = = < =
2 16~91 - - - <3 <3 <3 <3
Reduced Backlash P1 arcmin || 410 | <3 | <3 | <3 | <3 | <3 | <3 | <3
2 16~91 <5 <5 <5 <5 <5 <5 <5
Standard Backlash P2 arcmin ! 4-10 =5 =5 =5 =5 =5 =5 =5
2 16~91 <7 <7 <7 <7 <7 <7 <7
Torsional Rigidity Nm/arcmin| 1,2 4~91 3 7 14 25 50 145 225
Max. Bending moment Nm 1,2 4~91 425 125 235 430 1,300 3,064 5,900
Max. Axial Load N 1,2 4~91 990 1,050 2,850 2,990 | 10,590 | 16,660 | 29,430
) 1 4~10 165 395 1,300 1,525 | 2,800 4,500 | 12,500
Input Max. Radial Load F1s® N
2 16~91 165 165 395 1,300 1,525 2,800 4,500
) 1 4~10 580 1,000 1,100 980 2,700 4,700 8,000
Input Max. Axial Load F1es* N
2 16~91 580 580 1,000 1,100 980 2,700 4,700
Service Life hr 1,2 4~91 30,000°
i " 1 4~10 = 97%
clency ’ 2 | 1691 > 94%
Weight kg 1 4~10 0.8 1.4 34 6.7 13.5 35 63.8
2 16~91 1.1 1.6 4 7.3 16.6 36.4 747
Operating Temp® C 1,2 4~91 -10°C~+90°C
Lubrication 1,2 4~9 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 4~91 IP65 (Option IP67)
Mounting Position 1,2 4~91 all directions
Noise Level(n;=3000 rpmNo Load) ~ dB(A) | 1,2 | 4~91 | <56 | <58 | <60 | <63 | <65 | <67 | <70

Gearbox Inertia

0.06 0.21 0.87 3.65 10.27 43.05 | 102.68

1 6 0.06 0.21 0.83 8158 10.17 41.76 99.12
7 0.06 0.21 0.82 3.47 9.99 41.15 97.41
1 X .21 .81 4 . 40.97 7.
Mass Moments of Inertia J1 Kg - cm? 0 0.06 0 08 345 993 09 97.03
16 0.06 0.06 0.21 0.83 3158 10.17 41.76
21 0.06 0.06 0.21 0.83 8158 10.17 41.76
2 31 0.06 0.06 0.21 0.83 3.53 10.17 41.76
61 0.06 0.06 0.21 0.81 3.45 9.93 40.97
91 0.06 0.06 0.21 0.81 3.45 9.93 40.97
1. Ratiofi=Ne/Nou) 2. 7|& : £45E 100rpmost
3. 247| HER2E : -10~90%, 2427| FTHRE 0-40% 4, F|t§715E 3 Tos = 60% of Tonor
5, Service life 15,000hrs (S1:91& 2% Z4) 6. ADS047 1,25+ ADS064 1,26 ADS090 25t PO & &0l



Series

(12 2=, Z=H|(Ratio) i=4~10)

L11

L4 L8, L8

L3 WE-I R iva
L10x45° L13 L12

o8 |[H7
L9 DHp.
(|

2D13
2D9
D11 h7

D6|_ [, @D1+r

207
2D5
D4 h7
2D18
D3 h7
2D2
[I=
X
|
T
:
\
]
|
|
= Ea.—
]
| ILt—1 ep12

51 '
/ -
Flange Dimensions J g [ \_ L15 L14 8?11332/2
according 10 1S0 9409 §) - Sing R
ADS064-ADS255
Blho 17 L18
2 (@ |
Shaft Option S1 Shaft Option S2 2D17
[unit:mm]
D1 wr 12 20 315 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 7 28 40 63 80 100 160 180
D4 w7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 XM3X0.5P | 7XM5X0.8P 7XM6 X 1P 11 XM6X1P |11 X M8 X 1.25P [11 X M10 X 1.5P | 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 w7 3 & 6 6 8 10 12
D9 43 59) 78 100 125 175 210
D10 8X34 8X45 8X55 8X55 12X 6.6 12X9 16 X 13.5
D11 60 70 95 120 152 212 255
D12 3 22 22 30 40 75 95
D13 37 50 62 82 108 145 172
D14 M4 x 0.7P M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P
D15 M3 x 0.5P M3 x 0.5P M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M8 x 1.25P
D16 5149 61.5 84 107 137 193 235
D17 «s 1 14 16 22 32 40 55
D18 46.2 63.2 89.2 109.2 139.2 199.2 2542
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 5) 7.7 8 10 12 15 20
L8 325 43.5 47 62 72 89.5 112
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
L11 89.5 110.5 138.5 170 218 296 3725
L12 18 22 28 36 58 82 115
L13 2.5 2.5 315 315 88 4.5 4.5
L14 10 10 12.5 19 28 36 42
L15 1.5 1.5 1.5 1.5 1.5 1.5 1.5
L16 615 5.9 7 9 11 14 14
L17 2 2 3 3 6 6 7
L18 14 18 22 28 45 70 90
B1 no 4 5) 5 6 10 12 16
H1 12.5 16 18 24.5 85 43 59
oD 56 X2 66 X 2 90 X3 110X 3 145X 3 200 X5 238 X5
\% 4 4 4 4 6 6 6
Z 45 45 45 45 30 30 30




"ONI VZHOM SOINVYNAQ X3dY

o
o

ADS Series
(2t 2 Z+H|(Ratio) i=16~91)

L11

4L L8
L3
L10x45" sl iz, L13 L12
5 [
EE
=\
PEEENE J ol of o
s § 5§ g § i TN 1 S 9 5 g
sl \
p \
/
Flange dimensions N o |L12] \—OD sy (L4 Blkl‘332/2
according to ISO 9409 g O-Ring B1
ADS064-ADS255 h9 L7, . L8
Shaft Option S1 |-@D17 Shaft Option §2 |.2D17
[unit:mm]
D1 wr 12 20 31.5 40 50 80 100
D2 20 315 50 63 80 125 140
D3 w 28 40 63 80 100 160 180
D4 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 XM3X0.5P | 7XM5X0.8P 7XM6 X 1P 11 XM6 X1P | 11 X M8 X 1.25P| 11 X M10 X 1.5P| 12 X M16 X 2P
D7 72 86 118 145 179 247 300
D8 wr 3 0 6 6 8 10 12
D9 43 48 68 86 110 132 182
D10 8X34 8X45 8X55 8X55 12X 6.6 12X9 16 X 13.5
D11 w 60 70 95 120 152 212 255
D12 22 22 22 22 30 40 75
D13 37 37 50 62 82 108 145
D14 M4 x 0.7P M4 x 0.7P M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P
D15 M3 x 0.5P M3 x 0.5P M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P
D16 51155 61.5 84 107 137 193 235
D17 s 11 11 14 16 22 32 40
D18 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 225 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 5 7.7 8 10 12 15 20
L8 62.5 63.5 67 82 122 79.5 177
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
L11 119.5 125.5 158.5 188 253.5 314.5 419.5
L12 18 18 22 28 36 58 82
L13 2.5 2.5 2.5 315) B15) 315 4.5
L14 10 10 10 12.5 19 28 36
L15 1.5 1.5 1.5 1.5 1.5 1.5 1.5
L16 515 519 7 9 11 14 18
L17 2 2 2 3 3 6 6
L18 14 14 18 22 28 45 70
B1 ne 4 4 o) & 6 10 12
H1 12.5 12.5 16 18 24.5 5 43
oD 56 X2 66 X 2 90 X3 110X 3 145X 3 200 X5 238 X5
\Y% 4 4 4 4 6 6 6
Z 45 45 45 45 30 30 30




4487 M

S5 S1
e o ! as on
Cycle Operation Continuous Operation
YES ED<60% NO

t work<20mins
(Eq.1)

U&H B i (Eq.2) U&H BH j(Eq2) J
| |

B3 23 £E3 Yo J

Tom (Eq.3) Tom (EQ.3)

|

Y pE B3 WM
TZmax(Eq'4)

BZ =3 E3 Yo J

l

g 32 U817 | _NO Tomax<T28 NO § 2 H&7|
AN Ton<Ton @ > M
1
YES
v
BAEHAE(n,,) & FHEE(M,)E WY ) YES
(Eq.5)

|

'IIA_\l_HI §°' NO n

=] —
i

YES
v

BaACIHEAB(Fy,,) & BREAS(Fy)2
Y (Eq.6)

}
o8 AOICIYAF(F,,) & SH8HVNF(Fu)@ J F
ot

[}
‘ |

Fom<Fas NO

2rm
F2am< FZa

YES
i
et Key 82 2l

x5 wF

S

 S—

Recommended (for S5 Cycle Operation)
The general design is given for

J
i—2'-54xJ,,,

The optimal design is given for
Jo
i—; =J,

J, Load Inertia

J. Motor Inertia

1 : | 1
I:Zrd ) FZad z !
1

- a
.ED——t

-1 n

< - _
\”‘nz"/ Tie Tou: Ny © 20 28 ASHEOA 2ol

- T2a --------------

Iy Toef+---- l—---—u ----- 1

o 2p[—, i i y

1 1 1

Taabt—— — !

1 1 1 1 1

1 1 1 1 1

1 1 1 1 1

ElgFZra‘FZaa i-------%---: ------ g

© 2rc’ " 2ac—---- b e g
F2rp‘F2ap

S1 : AS2/Y &

— T3 CycleZ SHSAIZH0] 60%0I4tu
K= AjZl0| 2028 Eaf2f

812 ZHEAIZI0| 20AI7HS RTfetmf

ttt+t

€9 % 100%, t york = ta + to + ty
cycle

Index : a. Acceleration, c. Constant,
d. Deceleration, p. Pause (Eq.1)

Nm

work

Ny Output Speed of the Motor

Nyork Working Speed (Eq.2)

3 3 3
NoaXtaXTog +Np Xt XToe +Npg Xt X Ty

~Tom= NoaXtatNycXtotny Xty
(Eq.3)
- Tomax =TmeX i X Kg* 77
where K is
(&5 No. of Cycles / hr
1.0 0~1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2,000 ~ 3,000
1.8 3,000 ~ 5,000
2.0 5,000 ~ 9,000
2.05 9,000 ~ 10,000
not recommended above 10,000

. F2rm= 3\/ nzaxta+n2(:xtc+n2dxtd
Q/

T.s Max. Output Torque of the Motor

n Efficiency of the Gearbox  (Eq.4)

= N
o Mg = () === Mg

n nzaxta+n2cxtc+n2dxtd
2m n ta+tc+ td
% (Eq.5)

Non

3 3 3
nZaxtax F2ra +n20xtcx F2rc +n2dxtdxF2rd

3 3 3
nZaXtax F2aa +n26xtcx FZEC +n2dxtdx FZad

NoaXta Ny Xt Ny Xty (Eq.6)

FZam

>
2
>
'3
>
o
trd




"ONI VZHOM SOINVYNAQ X3dY

(o]
N

Output Dimensions

AD 047 AD 064 / AD 090 AD 110
ADR 047 ADR 064 / ADR 090 ADR 110
ADS 047 ADS 064 / ADS 090 ADS 110

1xD8,;

AD 140/ AD 200 AD 255

ADR 140 / ADR 200 ADR 255

ADS 140 / ADS 200 ADS 255
1xD8,; 1xD8,;

[unit: mm]

Dimension

D1 w7 12 20 31.5 40 50 80 100
D2 20 &l 50 63 80 125 140
D37 28 40 63 80 100 160 180
D4 vz 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 M3 x 0.5P M5 x 0.8P M6 x 1P M6 x 1P M8 x 1.25P M10 x 1.5P M16 x 2P
D8 w7 3 5 6 6 8 10 12
D10 3.4 4.5 5.5 5.5 6.6 9 13.5




Ordering Code

! Gearbox Size: i i Backlash:
i ADO047,AD064, AD090 i i PO: Micro Backlash i
i AD110, AD140, AD200, AD255 i i P1: Reduced Backlash i
L P2: Standard Backlash

Motor Designation:
1 Stage: 4, 5,7, 10

2 Stage: 20, 25, 35, 40, 50, 70, 100
16, 21, 31, 61, 91

________________________________________________________________________________________________________

Ordering Example: AD047-010-P1 / SIEMENS 1FT6 041-4AF71

ADRNSEeries

gL - SN - S / 2 [EERY

i 3 Manufacturer Type l
o And Model i

2 Stage: 20, 25, 35, 40, 50, 70, 100, 140, 200 And Model

_______ B
. Gearbox Size: o Backlash: i i
i ADRO047, ADR064, ADR090 . i PO: Micro Backlash i i
E ADR110, ADR140, ADR200, ADR255 i i P1: Reduced Backlash i i
| i i P2: Standard Backlash L
______________________________________________________________________________________________ .
R e
i Ratio: . i i Motor Designation: i
i 1 Stage: 4, 5, 7, 10, 14, 20 e ok i i Manufacturer Type i
1 I ! |
1 . |

» ADRO470I ==X gotgl
*» ADR047,ADR064 0fl = = & ot

Ordering Example: ADR047-010-P1 / SIEMENS 1FT5 034-OAK71

ADSISEeries

1
| 1 1
‘ L P
' Gearbox Size: P Shaft Option: o
| 1

i ADS047, ADS064, ADS090 i i 1 S1: Smooth Input Shaft i |

1
. ADS110,ADS140, ADS200, ADS255 | | S2: Intput Shaft with Key P
| P P

I

I

________________________________________________________________________________________________________

Backlash:
PO: Micro Backlash
P1: Reduced Backlash
P2: Standard Backlash

1 Stage: 4, 5,7, 10
2 Stages: 16, 21, 31, 61, 91

Ordering Example: ADS090-010-S1-P1

83

>
S
>
(=]
2
>
(=
(2]




AD/AD R/ADS Series

"ONI VZHOM SOINVYNAQ X3dY

(o]
H

Characteristic Highlights

True Helical Gear Design

71012t HE20| A7[0f CHH| 33%0]
A =0} E382S B4 S

0| HZA YIFEE HRAE WEH
ME B30 Z8% 25t5

backlash (less than 1 arc-minutes and < 56dB)

Solid uncaged needle roller bearingsS Xg
Ut Z7iof| Z|chst ol LISHoRg XE
12 1E3 NASO| ARSI,

=

HeliTopo technology2 ME5t =2 7|0{8s52 7IRL
7104 CrowningS Sall 7|0] XE&ignt QHHUS A[XStAIZ,
012215l 7|0{ EH HEES ristAl7 EIE2 S

SAL0ll Plasma nitridingZxiz2| &H|E XIHES

710f MEA=E 30 HRCZ RXIGHHA 7|0{EH B=S
900HVZIX| =04 LHDt=A 3 LIS &S SAl0l SCHAIZ
EESH X2 Hxj2| walol2t EXzlE HEo| So| He

One piece planet carrier with extended bearing design Patented sealing system
20|C|Y of5 8S SCH3E Al7 |1 A|ARIC| FEot QUM SR SE0f TICN ZEXZIE 510 Ot 2ES =0 22235
d8S Iosk AlZL HiXletn ~HS 2oiskeh(@E : 3700Hy, & : Ra0.2um)



APEX DYNAMICS KOREA INC.

Patented planet carrier design
7101 Hio{EZ Sz ARt HXINZSZA
710{2| 2HiES F0 =2 FUCE 2=

Triple split collet with dynamic balanced set collar
clamping system 2 tiaf4] Sraigl=

=S Mol 22UBAIS 2bRE| H7{E

E5H10 %—I %é!E SHHE =2 QEEE oM

Bxdt 20 2,

NS HRER

Nyogel 792D(Smart Grease)2
A5l QYUERE HiX[otr
FAERT HRgS

ADR Series

ADRZHZ ALIO[H HIH|{E X5t
Angle 122 Z0|IE % 71I s pv it

ofH ZE0|= i3 =+~ U=

TN BHREIS AR

>

g
T
=3
g2
>
o
(72}

ADS Series

ADSZUS Q2120 AIET} LI} 10
Yalot RE(S W2 o Bt
DEIR 2ATIE Key WAIO= A5kIx}
S H{gst AL

85



